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Part A: Grammar
Directions: Select the answer choice (1), (2), (3), or (4) that could best complete the blank

in the following questions. Then mark your answer on your answer sheet.
s e =

1. Even though a few elements, such as carbon and gold, are sometimes found in
elemental form in nature, ............... consist of two or more elements that have
combined chemically to form more complex substances called compounds.

1) most of the substances we see around us

2) most of the substances which see around us
3) the more substances do we see around us
4) but the more substances which we see around us

2. The International System of Measurement (SI for Systéme International d’Unites)
was developed to provide a very organized, precise, and practical system of
MEASUremMent .o.vvveersaens o

1) that everyone would be used in the world 2) which used by everyone in the world

3) using everyone in the world 4) that everyone in the world could use

3. A car with no driver, ............... , pulls up at your door.

1) neither even a steering nor a wheel 2) neither cven steering wheel
3) nor even a steering wheel 4) not even one of the steering or wheel
4, Scientifically, ......cecuveeee. fairly broadly as actions performed routinely in certain
contexts and situations, often unconsciously.
1) that habits defined 2) defined habits
3) which habits are defined 4) habits are defined
5. No human remains ............... with the carcass, so it’s not clear who had killed the
mammoth.
1) found 2) being found 3) were found 4) which found
G e sesasesas. Was scarcely fit to eat.
1) Such a food given us 2) Such a food that given us
3) Such a food whom gave us 4) Such food as they gave us

7. The highly sculptured walls and roof of this building are made from a combination
of masonry and reinforced concrete and are self-supporting. They are ...............
the enclosure and the structural elements which give it the ability to maintain its
form and resist load.

1) even so the elements which define

2) at the same time the elements which define
3) despite the eclements define

4) both the elements define

8. Reza Said that ............... he would be travelling alone, he would never have agreed

to go.
1) had Saman realized 2) if Saman realized that
3) has Saman realized that 4) if Saman had been realized that
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Part B: Vocabulary
Directions: Select the answer choice (1), (2), (3), or (4) that could best complete the blank

in the following questions. Then mark your answer on your answer sheet.
= =

9. If the only cloth you have ever lost was a ............ one, you still have a complete set
of clothes.
1) hypercritical 2) supernumerary 3) subaqueous 4) sublethal

10. The French returned to Vietnam in the mid-1800s, ............ to protect their
missionaries, but in fact to explore economic and trade opportunities.
1) zealously 2) ultimately 3) roughly 4) ostensibly

11. The typical American diet is imbalanced due to nutrient inadequacy or nutrient

1) nadir 2) cxcess 3) convention 4) havoc
12. The length of presentation or oral paper will be determined by the limitation to the
amount of information that an audience will be able to ............ in verbal form.

1) encounter 2) vitiate 3) digest 4) equate

13. Thomas Alva Edison also had the gift of serendipity: when some unexpected

phenomenon was observed, he did not hesitate to ............ work in progress and
turn off course in a new direction.
1) halt 2) emulate 3) rectify 4) varnish

14. Following the ............ at the nuclear plant, the international communities protested
its reopening.
1) chronology 2) commerce 3) probity 4) fiasco

15. At the age of eighty, his health ............ to the point that he may soon die.
1) intervened 2) regressed 3) stinted 4) replenished

16. I understand your ............ about air travel, but I oppose the idea that cars are
safer.
1) descent 2) asymmetry 3) brink 4) sentiments

17.0n average, a person lives between eight and 20 years after the ............ of
symptoms of Alzheimer, which include short-term memory loss, difficulty
performing simple tasks, and disorientation of time and place.
1) propricty 2) onset 3) interception 4) foray

18. She resented the ............ that she was too old for the job.

1) insinuation 2) absorption 3) diversification 4) compensation
19. The newspaper article was criticized for being heavily ............ toward the mayor’s
proposal.
1) biased 2) peculiar 3) taciturn 4) sketchy
20. His disapproval was ............ in his response to their behavior.
1) impoverished 2) impious 3) implicit 4) impotent
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Part C: Reading Comprehension

Directions: Read the following two passages and choose the best choice (1), (2), (3), or (4).
that best answers each question. Then mark your answer on your answer sheet.

Passagel:

Nothing in the history of modern astronomy has excited as much speculation as the object, or
event, known as a black hole. A black hole is very simple in structure: it has a surfacc —the event
horizon — and a center — the singularity. Everything else is gravity. The standard model for the
formation of a black hole involves the collapse of a large star. The imaginary spherical surface
surrounding the collapsed star is the event horizon — an artificial boundary in pacc that marks a point
of no return. Outside the event horizon, gravity is strong but finite, and it is possible for objects to
break free of its pull. However, once within the cvent horizon, an object would nced to travel faster
than light to escape.

For extremely massive stars, the exclusion principle — the resistance between the molecular
particles within the star as they are compressed — will not be strong cnough to offset the gravity
generated by the star's own mass. The star's increasing density will overwhelm the exclusion
principle. What follows is runaway gravitational collapse. With no internal force to stop it, the star
will simply continue to collapse in on itself. Once a collapsing star has contracted through its event
horizon, nothing can stop it from collapsing further until its entire mass is crushed down to a single
point — a point of infinite density and zero volume — the singularity.

The star now disappears from the perceivable universe, like a cartoon character that jumps into a
hole and pulls the hole in after him. What this process leaves behind is a different kind of hole — a
profound disturbance in space-time, a region where gravity is so intense that nothing, not even light,
can escape from it. Any object falling within the boundary of a black hole will be sucked in and will
disappear from our universe forever.

21. What happens to an object that falls within the event horizon of a black hole?
1) The object changes shape until it is spherical.
2) The object is pushed from the hole at the speed of light.
3) The object cannot escape the black hole's gravity.
4) The object explodes into particles that drift into space.

22. The opposing force between the molecular particles inside a star is called .............
1) general relativity 2) the exclusion principle

3) infinite density 4) a singularity

23. The word " runaway " in paragraph 2 is closest in meaning to ............ .
1) frequent 2) long-term 3) uncontrolled 4) slow-paced

24. Why does the author mention a cartoon character?
1) To illustrate the complete disappearance of a collapsing star

2) To warn of the danger of being sucked into a black hole
3) To point out a humorous phenomenon in astrophysics
4) To announce the creation of a cartoon about black hole
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25. Which of the following statements is the author more likely to agree with?
1) The collapse of a star creates a black hole, a distortion of space and time with gravity strong

enough to pull in any nearby object.

2) Several different kinds of black holes exist, but the most powerful are those that result in an
interchange of space and time.

3) Behind every black hole is a different type of hole that is even more disturbing to our current
beliefs about gravity, space, and time.

4) The process of black hole formation occurs only in regions of space where gravity is the
predominant physical force.

Passage2:

Two American philosophers, William James and John Dewey, developed very influential
theories about how we think and lecarn. Both believed that the truth of any idea is a function of its
uscfulness and that experience is central to learning,

William James (1842-1910) was a philosopher and psychologist who believed that truth is not
absolute and unchangeable; rather, it is made in actual, real-life events. Truth cannot be separated
from experience, and in order to understand truth, we have to study experience itself. Thus for James,
human experience should be the primary subject of study, and he called upon thinkers to concentrate
on experience instead of essences, abstractions, or universal laws.,

James focused on what he called the “stream” of experienee, the sequential course of events in
our lives. He believed that human consciousness is a stream of thoughts and feelings, and that this
strcam of consciousness is always going on, whether we are awake or aslecp. The steam consists of
very complex waves of bodily sensations. One wave dissolves into another gradually, like the ripples
of water in a river.

The theories of John Dewey (1859-1952), philosopher and educator, have had a tremendous
impact on generations of thinkers. Dewey viewed life as a continuously reconstructive process, with
experience and knowledge building on ecach other. Dewey believed that experience is an interaction
between what a person already knows and the person’s present situation. Previous knowledge of
naturc intcracts with the present environment, and together they lead to new knowledge that in turn
will influence future experience.

Dewey asserted that experience is central to education; however, experience cannot be equated
with education because all experiences are not necessarily educative. Experience is educative only
when it contributes to the growth of the individual. It can be miseducative if it distorts the growth of
further experience. It is the quality of experience that matters. Thus, productive experience is both the
means and the goal of education.

26. What would the possible topic be for the passage?
1) Theories of experience and education 2) The essence of truth

3) The stream of experience 4) How people learn new things?

27. The word "its" in paragraph 1 refers to
1) experience 2) truth 3) idea 4) theory
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28. Why does the author mention "Truth cannot be separated from experience, and in
order to understand truth, we have to study experience itself." in paragraph 2?
(Incorrect choices change the meaning in important ways or leave out essential
information.)

1) We must study experience to know the meaning of truth because the two are necessarily
connected.

2) The truth of any cxperience cannot be understood unless it is compared with past
experiences.

3) It is morc important to lcarn from personal experience than to study philosophy to
understand truth,

4) We can comprehend what truth is only if we separate truth from experience and study cach
individually.

29. Why does the author mention "a river" in paragraph 3?
1) To describe how thoughts and feelings flow into cach other
2) To compare the processes of falling asleep and waking up
3) To emphasize the complexity of bodily sensations
4) To show that truth is not absolute and unchanged

30. All the following ideas are part of Dewey's theory of experience and education
EXCEPT:

1) Knowledge and experience interact.

2) Present experience effects future experience.
3) Every experience is educative.

4) Experience should develop the individual.
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Outside the event horizon, gravity is strong but finite, and it is possible for objects to break

free of its pull. However, once within the event horizon, an object would need to travel faster
than light to escape.
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...the exclusion principle — the resistance between the molecular particles within the star as
they are compressed —...
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‘ With no internal force to stop it, the star will simply continue to collapse in on itself.
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The star now disappears from the perceivable universe, like...
= jumps into a hole and pulls the hole in after him.
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| What this process leaves behind is a different kind of hole ..
The collapse of a star creates a black hole, ... : JS&b 4 ool o 933l

| ...a profound disturbance in space-time ...
... a distortion of space and time ... : Kb & oudy (o 933

| ... where gravity is so intense that nothing can escape from it ...
... with gravity strong enough to pull in any nearby object ... : J5& 4 ould w93l
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Truth cannot be separated from experience. ..
...the two are necessarily connected. 1 ygods oo o 3331

...in order to understand truth, we have to study experience itself...
... We must study experience to know the meaning of truth... :& yg0a odis 9330
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... a stream of thoughts and feelings...; One wave dissolves into another gradually; like the
ripples of water in...
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[1] ... experience is an interaction between what a person already knows and the person’s
present situation ...

[2] ... together they lead to new knowledge that in turn will influence future experience.
[4] Experience is educative only when it contributes to the growth of the individual.
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